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30100 702 A 20 1,296 65 65 65 | B5P 2074
31100 H¥ 60 6, 804 1,188 1,188 1,080 | B 61
31700 X 40 1,296 324 324 324 | BN 410
31700  F 130 8, 694 972 594 540 | BN 1347 — %
31800 1EHNAE 30 8, 154 59 59 43 | B 1523
31900 X 6 756 130 130 119 | BH 6kg
36800 HoX 19 22 13,014 648 648 540 | BN 22kg
34400 k= k 95 21, 935 281 238 194 | B 95kg
34270 Ry ¥ —= 10 3,132 76 65 54| BN 50
35220 XM ERHT 10 2, 657 356 216 216 | B 10kg
35300  E°— X 6 6, 534 1,188 1,188 1,188 BN 6kg
35303 AF v TEZAED 3 162 108 54 54 | BN 3kg
Y3115 FEZXAED 4 697 162 162 162 | &M 4kg
35400 FHE® 3 1, 004 324 324 324 | BN 3kg
Y3033 | &AL 64 3, 429 54 54 54 | BN 64kg
36200 BEHE 25 5, 940 238 238 238 | BN 25kg
36260 {2 Lpi=nn 310 82, 728 2, 808 2, 808 2,376 | BN 31—
36600 7—EnE 101 13,916 140 140 =12 "101kg
33200 AV 75 U— 178 70 54 54| BN 3
33300 Tmyaly— 324 162 162 162 | B 2kg
Y3017 &k Y 3,024 1,512 1,512 1,512 | BN 2kg
43900 b 4,536 324 324 324 | B 143y 7
46108  E7MFDNEE 57 45, 295 292 238 173 | BH 1898y 7
71010 K% 7,776 54 54 32 | B 18074
71011 A7 L —%§ 36, 720 54 49 43| BN 7407
71080 7A U A 756 38 38 38BN 20K
71160 B (&) 5, 141 43 43 38| BN 12278 v k
53456 7= /n7RiE 6 2,592 432 432 432 | BN kg
53101 1E LKAR 3 2,970 1,188 1,188 1,188 | BH 3kg
Y3019 HoDY 5 11, 448 2,376 2,376 2,160 | B 5kg
Y5010 DbASE (&) 9 7,074 864 864 648 | B 9kg
30100 72WVWZ A 3L 55 3, 683 76 65 65 | EEIR S 55K
30100 7T A L 10 756 76 76 76 | BEIRE 10K
30300 Az 2L 50 4,536 1, 080 864 864  FER S 57—
30300 A% B 170 5,616 54 22 22 | EIRB 170kg
30400 ZIEH 11 2,516 76 76 11| &E#& 354%
31200 [ 4 1,080 54 54 54 ER B 204%
33500 H 5 &% L 5 518 11 11 11 f&E 481%
33810 HFEE 8 1,728 43 43 43 IR 4048
37440 b 4 1,328 896 896 432 |EIR 27— -
Y3072 NRbE—UJ—7 6 1,296 22 22 22 | RER 6048
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Y5005 4 7KE A 1,534 1,534 1,534 1,534 | K45y 14—z
31800 EHNAE 1,296 76 76 54 | IR 204%
31950 HAE 2 L 15 4,374 972 864 810 RS 57—
31900 ¥ 7 1,156 162 76 76 | FEIR B 133 (500g)
31930 ZHaX 3 1,296 43 43 413 |ERE 3048
32800 125 5 1, 620 32 32 32 | ‘E 507
34300 7o 30 9, 504 1,836 1,620 1,404 | REA 64— R
34460 I=LF L S 8 4,320 108 108 108 |EEVE R 4078y 7
34100 #HIJL B 30 2,592 432 432 132 |EIRE 64% .
34100 | BAMK B M 35 4, 968 864 648 648 | = I T4 —R
36600 7-FhX 2L 60 8,100 2, 700 2, 700 2,700 | dbifEE 34—
37200 L Xx 548 2L 8 3,348 1,836 1,836 1,512 | [EH 24— R
33420 |V —2U—TLHR L 3 486 32 32. 32 | Rl 158
33600 Sk 1 162 32 32 32 | 1& [ 548
38100 A LW=if 8 4,428 65 54 54 | B IR 80,3 7
31310 A3 8 1,728 43 43 43 IR 4048
31500 /A 16 3, 780 65 43 38 | t& i 804%
32500 | AT M 2 1,080 65 65 43 | K4y 205
37560 BBIT 1 3,229 324 270 216 | K4y 1232 7
38400 XD EEH 25 4, 050 16 16 16| RS 2504%
38521 RARLDHUH 3 1, 458 49 49 49 | t& 3048
41300 P4 3L 40 1,296 324 324 324 | BIRE 44—
41804 KA1 33 1,102 108 108 65 | REAC 1147 —=x
Y4017 Yo 5L 120 9, 180 864 864 648 | K5 1247 — R
46108 ST D 2 1,048 173 173 108 | = (A4
46108 EMEDOE 4N 2 756 108 108 108 | IR 5 (Ea
49100 SFF 120 12, 636 1,728 1, 188, 1,188/ 7 4 Uy 10—2
Y5006  #HON (B4h) 110 33, 545 3,218 3,218 2,894 HEIRE 11—
Y5006 | #IN (B44) 56 15, 098 193 193 175 | RS 80/% v 7
&t 2,112 472, 209
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